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FHOE 1AE HBREE R
1A% (8 BEERE (B)
Az | mex | RES Az | mes | RESR
CNGV - CHGVH - CHGTHZS 38 F LIS DIt &

500Lk %
LPG 871, 447 1,301 1,564,922 16, 611
PG 60, 835 235 100, 747 1,563
LG 39,942 0 424, 858 468
AG 3,598 0 32,298 6, 000
LT 3,230 1,160 26,788 10, 402
LNGV 0 0 0 0
wnL 0 0
(LDH 0 0
| Z D1t 5 0 1,604 50
L HIEE G S R 985,007f _____2.69%f _________ | 8217y 35,004
HEERAE %) 103.2 88.7
B Gy R ®r7s ¢V o ____8786311__________
dEIERAL %) 103.2

500L L1 £ 1000L 5 7
LPG 0 0 23 1
PG 491 0 5,431 0
LG 949 125 4,927 2,524
LT 0 0 0 0
nL 0 0
(LDH 0 0
o) 0 0 72 0
EpEgest | 140 [ 2] I I 10,453 2,525) ]
XTI A L (h) 104.5 84.6
wegset oo o4 o 1% .\ . 12918
HETERE AL (h) 0.2

1000LELE
LPG 496 361 A1 10, 496 4,560 471
PG 0 0 125 39 0
LG 89 148 6 1,843 1,150 46
LT 66 28 10 149 206 112
nL 0 3
LDH 0 1
X0 0 0 0 110 57 0
RERESEE | es1f S 7] I 13,3231 6,016f . _______ 629
HApERAE %) 116.3 113.2 110.0
\Essst .t 124 V.. __ 1998
ANEERAE %) 0.2
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FR29E 1AE HBREEEN
155 (8) BEERH (B)
Avd o | mes | RESR Az | wes | BER

CNGVEAZF DR &
EaERas L__________ 1] o oo 208 il 0
XEERAE (%) 18.2 1.8 0.0
oNevEg AR I [ E 2500
HETERALE (%) 0.0

CHEVHE 2 F DR &
EpEge L] O ] of 3911 a 0
HMuiERAE %) 34.8 0.1 0.0
cheveEmast | s6 [ 395
HEERMA L %) 0.0

CHETHER SR A DM B &
maERER | o o o ] ] 71 0
NBIERAE (b 0.0 0.6| 0.0
creTHEmAEt | | T B
HEERAL (%) 0.0




